= S o o
2 o ¥ 2| 2| 8| Q|| ¢| |3
% > < = N o o > ;> o o
w 1% = = - o &
| 5_G < = = = =
w <!
— N~ N~ hay gy [
Ql © © o o 8 8 1Y)
= o Te} Te} o o o N I}
— » ~— ~— N~ N~ N~
Q z z z z z = = Q
a a a a a o o 2
= _
: 9 | _H©
RO T e ©
s |~/ | VY |_J| S ©
w
W [{e] [{o] © [o0] [o0] [{o] [o0] [{e] [{o] © [{o]
- — ) < o) — N~
Z 2 h & 5 = N o & N 3 <

2029N

2029F




2029N
2029F

0000 _f2
o4e [

T
9

Ne | Z Element DIN ELEMENT
10 | 12 DIN 9021 6x18
15 | 3 | (—> |1s07380 | M6x30
16 | 12 D K1 d21 B
17 | 12 ﬂ:[) Z1 d21 B
18 | 12 8() DIN985 | M6 (OC)
19 1 |([——>| 1s07380 | Mex40
22 | 12 DIN 125 6x12
[ 1s07380 | Méx45

7




2029N
2029F

%

oo

®W®

A
/




N | Z Element DIN | ELEMENT
4 4 DIN125 |  10x20

14 | 6 (=) ISO 7380 | Méx12

21 | 12 DIN 125 8x16

22 | 12 DIN 125 6x12

24 | 6 (=23 |1s07380 | Msx16

20 | 4 K5p202.
57 | 4 @ DIN 1587 M10

81 4 (:[] ISO 7380 | M10x35
15 | 4 {Q Aluz PD
147 | 12 (m M6x10




2029F

Nr Element DIN | ELEMENT
21 DIN 125 8x16

22 DIN 125 6x12

24 =2 |1so7380 | Mex16

61 c——— KL105 (OC)
121 719%()_—5:@2—
147 (m M6x10

DODOPIOIP )




